Math 7 (Last

Packet)

Day Date Video Assignment Due Is it done?
Monday 5/18/2020 2 step equations

Tuesday 5/19/2020 Practice Quizzes - order of operations and equations - titled with A
Wednesday {5/20/2020 Practice Quiz 2 - order of operations and equations - titled with B
Thursday 5/21/2020 |(like terms

Friday 5/22/2020 [like terms equations like terms

Monday 5/25/2020 [NO SCHOOL

Tuesday 5/26/2020 [equations with var on 2 sides like terms equations

Wednesday |5/27/2020 variable on 2 sides equations

Thursday 5/28/2020 Practice Quiz - Equations

Friday 5/29/2020 Practice Quiz B - Equations

Monday 6/1/2020 Practice Final Part 1

Tuesday 6/2/2020 Take Final Exam Part 1

Wednesday |6/3/2020 Practice Final Part 2

Thursday 6/4/2020 Take Final Exam Part 2

Friday 6/5/2020 |[nothing - there would have been no math this day

How many total did you do:

Zoom sessions available upon request for those who need help




Name

1-7.

10,

11.

12,

13,

14.

15,

16.

17.

18.

19.

What is the order of operations?

What good does it do us?

4x3?

16-6+2

4+6x5-(4-12)

2+5x7

5+7x8-2

Ix4+5°

4+8+2

6-3P-10x4

10-22+4

7-3x8

S5x(2+3)Y -4+2

6-(3-5)x5

Practice Quiz, Math 7, Order of Operations A




Name

. x+3=9

I x-5=9

4 x+6=9

5. x+8=3

6 x-7=-9

7. x+6=8§

10.

i2.

13.

14.

15.

le.

. 4=x-7
6=x+6

. 3x=15
Ax =12
Tx=-16
4x =60
=7
x2=5

Math 7, Equations Practice Quiz A




17.

18.

19.

20.

21.

22.

23.

x/-3=4

X4=9

x/-5=-8

2x+5=15

SIx+24=12

-3x-5=-16

24,

25.

26.

27.

28.

29.

30.

8x+4=-8

O9x+5=8

Bx-6=14

x6+8 =.5

X/-4-9 =10

X4+3=6




Name

10.

11.

12.

13.

14.

15.

16.

17.

i8.

19.

What is the order of operations?

What good does it do us?

6x2

3Ix5+42

4x(2+3) -8+2

6-(3-7)x5

4+6+2

16-8+2

4+7x5-(5-12)

11-2°+4

7-3x6

2+5x8

5+7x8-6

6-3P-10x5

Practice Quiz 2, Math 7, Order of Operations J’ﬂ




Name

l. x+6=9

3. x-8=9

4 x+5=9

5. x+7=3

6. x-8=9

7 x+9=8

10.

11.

12.

13.

14.

15.

16.

Math 7, Equations Practice B

. 4=x-9
H=x+8
5x=15
bx=12
Sx=-16
4x = -B0
Ix=4
x2=7




7.

i8.

19.

20.

21

22.

23,

x-1=4

x7=9

X4 =-8

5x+5=15

-6x +24=12

-M-5=-16

24.

25.

26.

27

28

29.

30.

8x+7=-8

9x+4=§

8x-5=14

X7-1 =6

x6+6

1l
.
ih

X4-7 =-10

X4+ 6

I
(=3




Name Math 7 Notes, Like Terms (2018)

Like terms have exactly the same variables.

Like or unlike?

1. 3x, 3y 6. 8ab, -8a

2. 3x, -4y 7. 9a’b, 7ab’
3. -3x, 5x 8. 6ab?, -7b’a
4. -5x°, 6X° 9. -7,-4

5. 5xy, -6yx 10. -7%, 5

Like terms can be combined (use the adding rules on the coefficients - the numbers in front of the
variables)

1. 6x+3x 11. -2x-3y-4x-5y

2. -Ax+7x 12. 2x-4y-Sy+6y

3. -8x-2x 13. 3x+4y-5z-6x-2y-3z
4, 7x-10x 14, Ix-y+x-dy

5. 7x-3x 15. 2x-3y-2x-3y

6. Ix+x 16. Sx+2x-3y-7x

7. 2x+3y+4x+5y 17. -6x+y-6x+3y

8. 2X+y+3x+2y 18. -7x+3x+2y-8y

9. -2X-3y+7x+3y 19.  -AxPytx0%py!?

10. 2X+3x-8x+2y



Name

1. What are like terms?

Practice, Math 7, Like terms

Are these like terms? Answer Yes or No.
2. 5% 5

3. 6y, 6x
4. 4x, -3x

5, Sxy, Txy
6. 6x°, 6x
7. 4x7%, 3xy°
8. 5xy’, 4xy’
9. -2y, 5y
10. 3,-5

Combine like terms.
11. 5x+6x

12. 2y +3y

13. 6x-2x

14, 3x-8x

15. -2x-3x

16. -6x +8x

17. 7y +3y

18. 2x +4+5x+2

19. 4x+5x+6x+4

20, 2x-3y+6x-3y

21, 2x+5y+3x+2y




22,

23.

24,

25,

26,

27.

28

29.

30.

31.

32,

33.

34,

35,

36,

37.

38.

39.

2x-5x+4y-2y

4x+3+5

2x-9x-8-2

-2x -3y - 4x - Sy

5x-6-7-5x

Ix-4y-2x-9y

2X+2yex-y

8x-x

4x + 5x + 6x

2x + 3y + 4x + 6y

5x-2x+2y-8y

2x + 5y + 6y - 11y

2x+4+8-15

Ix+5y+6z+2z

2x-3y-4z+4x+ 5y + 8z

2X+3x+4x+ 5x+6x

2x+3-8

Ix+4y-Tx-2y

Ixt+4y-8y-5x
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Name Practice, Math 7, Like Terms Equations
1. 2x+4x=12

2, 2x-9x=121

3. 6x-3x=-9

4, 6x+3x=9

5. 2x+3x=-30

7 -x-4x=25




10.

11

12.

13.

14.

I5.

. X-3x=8

4=x-5x

24 =5x+7x

S5=3x+6x

Ix+4x=4

2x+5x=14

6x +2x =20

4x+3x=12




16.

17.

18.

19.

20.

21

22,

23.

2x+3x+4=8

3x+6x-4=-5

2x-6x-8=-8

5x-Tx+5=35

Tx-8x-9=3

4x-2x-4=-8

3x-8x+3=4

4x+8x+5=-2




24.

25,

26,

27,

28

29.

30.

2x+5x+5=0

Xx+x-6=0

3=4x-6x-8

2=2x-8+4

S=4x-%x-2

B=3x-5x+6

0=5x-8x+9
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Name

1. 5x =4x+5

2. 4x=12+2x

3. 3x=9+2x

4 2x =18 -4x

5. x =20 +5x

6. 2x-3=-9+4x

7 3x+3=8-2x

Practice, Math 7, Variable on Both Sides Equations




10.

11.

12.

13.

14.

15.

4x-4=8+6x

4-x=10 -4x

<l1-x=11-5x

S5-x=9+3x

3+3x=4+2x

2+2Ix=9%+6x

6+x=9-3x

X+3=12 -5x




16.

17.

18,

19

20.

21

22,

23.

2x+4=8-6x

Ix-4=25 - 2x

4x-8=-8-x

Sx+5=5+4x

6x-9=3+3x

Tx-4=-3+8x

8x+3=-4-2x

Ix+5=2+T7x




24,

25.

26,

27.

28.

29,

30.

8x+5=10-4x

Tx-6=20+3x

3-3x=6x-8

Tx-2=5x+4

5+6x=4x-2

S5x-8=3x+6

4x-30=2x+9




Name Practice, Math 7, Equations
1. What are like terms?

Are these like terms? Answer Yes or No.
2. 2x,2

3. Ty, x

4. 4x, -5x

5. -3x+4y+5x+ 6y

6. 5x-6x+Ty-8y

7. 2x+4+6

8 -2x-4x-6-8




10,

11.

12,

13.

4.

15,

16.

2x - 6y +8x - 10y

Tx-1-7+x

2x+4x=130

2x-9x=128

6x-3x=27

6x+2x=15

2x+3x=-28

2x+5x+4=8




17.

18.

19.

20.

21

22.

23.

24.

Ix+6x-4=-5

2x-Tx-8=-8

5x-8x+5=5

7%X-9%-9=3

Tx =6x+5

4x =12 -2x

S5x=-9+2x

2x =18 -3x




25,

26.

27.

28.

29,

30.

x =20 +7x

3-4x=6x-8

4x-2=5x+4

S5+6x=4x-2

“7x-8=3x+6

8x-30=2x+9




Name

1. What are like terms?

Math 7, Equations Practice B

Are these like terms? Answer Yes or No. (3)

2. 5,4 3. 6a, 6b

Combine like terms. (6)

5. 6x+7y+3x+ 35y

6. 5x-8x+6y-2y

7. 7x+6+6

Solve, (20)

11, 2x+4x =30

12, 2x-Tx=125

13. 6x-5x=27

14, 7x+2x=20

4. 3x, 6x

8 6x-2x-4y-y

0 2x-8y-8x+9y

10. 3x+9-3+6x

15. 2x+4x=-12

16. 4x+5x+4=22

17. -3x+4x-4=-8

18. -2x-4x-4=4




19. 5x-8x+8=5 25. x =25 +4x

20, 5x-9x-9=3 26. 5-4x=4x-6
21, 7x =6x+9 27. Tx-2=6x+4
22, 4x =18-3x 28 5+4x=8x-2
23, 5x=-12+7x 29, -\7x-8=2x+6

24, 2x =12 -3x 30. 8x-5=5x+9




Name

Practice Final Exam, Math 7

Find the product of 537 and 24,

What is the difference of 1464 and 8357

If 19 students each had 8 books, how many books are there in afl?

Tom had $6.83 and earned $12.49 more. How much money did he have in ali?

What is the sum of 373 and 2467

The regular price of a $486.84 item is decreased by $34.59. How much does it cost?

If 360 pennies are put into 8 equal stacks, how many pennies will be in each stack?

What is the quotient of 4556 and 217

What time is 7 hours before 3:00 AM?

Round 5996. 3254 to the nearest

10.

H,

12,

13.

14.

15.

16.

17.

hundredth

thousandth

hundred

thousand

Which of 61, 63, and 67 is not prime? Why?

Prr |

Which of 111, 113, and 115 is prime?

Find the average of 12, 16, 26, and 34

Write the factors of 48




Find the greatest common factor for each set of numbers,

18. 16 and 24

19. 12, 20, and 48

20. What are the first four multiples of 8?

21 What is the LCM of 12 and 8?

22. What is the LCM of 12 and 247

23. b

24, 10

25, 7 “squared”

26. 9 “cubed”

27, Find the square root of 49

Which numbers from 2 to 10 are divisors of the following?

28-31. 3640

32-5. 83,538

Find the perimeter, area, volume, surface area, or circumference of each shape.

36-7. P= 389, Em~ Q pme
Cin
A=
IOJ‘\P\
40-1. P= 42-3,
Y . | Ve~
- g_ .
L&

IS cmn




What is the arrow pointing to on the ruler below?
ind

57.
58.
59.
60,

6l.

62.

63.

65.

58

50-1.

52-3.

54-5.

What is 3/5 of 60?

45 is 3/5 of what?

What is .7 of 70?7

52 is .8 of what?

What is 45% of 607

5t is 60% of what?

.

54




67. Ix5+6°

68, 4xQ2+7)V -8+2

69. 6-(3-8)x5

70. 6+4+2

71-100. Fill in the rest of this chart;

Fraction Decimal Percent
4%
5/600
37
5/9
7125
7715
625
0063
k3
495
525
43
70
6

240




Name

Final Exam, Math 7

Find the product of 237 and 24,

What is the difference of 1864 and 8357

If 18 students each had 8 books, how many books are there in ail?

Tom had $6.13 and earned $12.49 more. How much money did he have in all?

What is the sum of 343 and 2467

The regular price of a $476.84 item is decreased by $34.59. How much does it cost?

If 360 pennies are put into 9 equal stacks, how many pennies will be in each stack?

What is the quotient of 4856 and 217

What time is 8 hours before 3:00 AM?

Round 5956. 3728 to the nearest

10.

1.

12.

13,

14.

15.

16.

17.

hundredth

thousandth

hundred

thousand

Which of 71, 73, and 77 is not prime? Why?

PARs 1

Which of 81, 83, and 85 is prime?

Find the average of 8, 16, 26, and 34

Write the factors of 30




Find the greatest common factor for each set of numbers,

18,

19.

21.

2

3,

24

5.

26.

27.

Which numbers from 2 to 10 are divisors of the folowing?

28-31.

32.5.

16 and 12

12, 15, and 36

What are the first five multiples of 67

What is the LCM of 6 and 87

What is the LCM of 4 and 87

8 “squared”

5 “cubed”

Find the square root of 81

1540

62,370

Find the perimeter, area, volume, surface area, or circumference of each shape.
38-9.

36-7.
i m
40-1.

3 e~

0.
.

Y e

42-3.

Cram

Y 1n Sin
1
I
{ia
\ohn.

B mm




P= 50-1.
A=
3
46-7. 9 P= 52-3,
LY
,?l-\ 5 In
A=
48-9, C= 54-5.
A=
What is the arrow pointing to on the ruler below?
3 GO0
\'\C\'\‘ 58
\ 56 l | \ [ J
PR N TP AU U U AU R B S O
8 WL NI ' i | l | l ! I
57
59
56.
57.
58.
59,
60.
61. What is 3/5 of 507
62, 60 is 3/5 of what?
63. What is .7 of 807
64. 60 is .8 of what?
65. What is 40% of 507
66, 48 is 80% of what?

8 9ds

Yl

S gds




67, 3x5+4°

68, 4x(2+3)7 -8+2

69, 6-(3-7x5

70. 44+6+2

71-100, Fill in the rest of this chart;

Fraction Decimal Percent
3
5/6
4/7
7/9000
9/20
11/15
875
0035
k3
465
2.25
777
90
7

320




PACT 2
Name _ Practice Final Exam, Math 7

1. If there are 6 red, 2 blue, and 4 white marbles in a bag, what is the probability of picking a red marble?

Find the missing angle in the triangle:

2.

What are the coordinates of the point A?

[ /
ST L
a0 N
A
Compa -~
4 -18 -10
5 4 3
6. .03 007
7. .0020 002
8 .008 .08

Name-Changer Machine

9 L

5 40
Write as an improper fraction.
10. 5E

8

11. 7
Find the reciprocal of each number.
12. U

8

13, 3




Simplify

14, 13
5

15. L)
7

6. =
40
AN
48

18. 4§
6

Perform the indicated operation.

19, 2+-2—
T 7
0 1.3
12 12
an 2,2,2.2
5 5 5 5
n 3.3
4 8
23, 1—3
9 5
u 2,3
7 8
s 3,3
s 7
26, 13+2§
4 8
27. 4-2--15—




29,

3L

32,

33

35.

37.

38

39

~ |
e
|t

~1| e
B2 |

1234 5678
5678 1234

5 15

— e —

12 9

567

567

1234 — + 1234 —
890

4 11

Nln—-

890




41.

42,

43

45,

47.

49.

51

53,

35,

56,

25+ .4

49 + 875

456 +2

267-14

43-3.69

3.71-2

032 - 00368

4-2.368

3 x.08

35 x 1000

64 x3.8

68 x.5

04 x 08

26 +5

237 +100

987654321 + 987654321

432 +1.8

9.5 + .25




59. (+7N) +(+2)
60. 8+ (-5
61, 6+ (+9)
62. (t4) + 4
63. 6+ (-7
64. 3-8

65. 4) - (-8)
66. +N-(-9)
67. 6 - (+9)
68. -3)--3
69. +6)-7
70. 4.-1

71. (-5)-5

72. {(+7N(+8)
73. (-8)(-5)

4. (-9)(+2)
75. (+7y(-4)
76. -24 /-8

7. 42 [ +6
78. +35/-7
79. (+36)/ (+4)
Solve the equation.
80, xt+5=8
1. x-7=5
8.  x-3=-6
3, x+5=1
84, X+5=-4
85, 2=x-7
86. H=x-6
87, 9x = 45




88

9L

93.

95.

98,

99,

100.

4x =34

67 =-10x

x/-6=-7

x/-8=9

4x+5=25

-8x+6=74

x+7=10

x5-1=6

Sx+d4x=-42

4X +9x + 4= -26

6x+ 23 =13x

5%-3=-3x+42




Name

Final Exam, Math 7
If there are 3 red, 5 blue, and 4 white marbles in a bag, what is the probability of picking a red marble?

Fars 2

Find the missing angle in the triangle:

2.
‘50

What are the coordinates of the point A?
A "

'|
3 A | |
{ |
||I |I |
. i
| | | Hl -.
. | | |' '
N I
Compare ' :
4 -8 s —— -10
5 3 2
6. .03 003
7 0040 .004
8. 009 08
Name-Changer Machine
9 3.2
5 30
Write as an improper fraction,
10. 5-3
7
11. 4

Find the reciprocal of each number.

12. 3
8

13. 9




Simplify

14. E
5

i, o2
8

16. E
36

7, A8
36

18. 62-

3

Perform the indicated operation.

19, 1+£
5 5
o ekl
12 12
21 £+£+£+£
3 3 3 3
n 2.2
6 3
9 5
24, 3+2
7 8
5, 3+i
4 5
26 13-0-25
3
» 223




28,

3L

32.

33

34,

35.

37.

38

39

~1 e
| W

~3 e

1234 5678
5678 1234

1234 397 +1234 367
890

890




41

42.

43,

45.

47.

48,

49,

3L

32.

53

55.

56.

37,

25+.3

49+ 775

456+8

267-13

43-389

371-2

072 - 00368

5-2.368

4x .08

73 x 1000

67x28

65 x 8

02 x .08

A23 +5

67.8 + 100

987654321 + 987654321

414 +18

55 = 0025




59. (+6) + (+2)
60.  -7+(-5)
61, 8+ (+9)
62, (t5)+-5
63. 6+(-7)
64, =3-7

65, (-4)-(-9)
66. +N-(-8)
67. 8 - (+9)
68. (-4)--4
69. {(+6) -5
70. 4--2

N, (N-7

72. #N(+8)
7. (-8)(-9)

74. (-4)(+3)
75. (+6)(-4)
76. -32/-8
77. 48/ +6
78. +56 /7
9. (+32)/ (+4)
Sotve the equation.
80. x+5=9
81 x-7=6
82, x-3=7
8. x+5=4
84 X+5=-2
85, 2=x-5
86. 8=x-8
87 5x=45




9L

93,

95.

100.

6x=-34

-31=-10x

x/2=-6

xX/4=-7

x/-T=9

5x+5=125

6x+6=74

12x+7=10

X7-1=6

IX+ dx=-34

I+ +4=5

ox+13=2x

S5x-3=-2x+10




